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Explanations and answers to select questions

01 The words are : (i) Anchor [R], (ii) School [S], (iii) Handpump [P], (iv) Cheese [Q]. So, option (D)
is the correct answer.

02 The words are : (i) Fireman [R], (ii) Braid [S], (iii) Zebra [Q], (iv) Rabbit [P]. So, option (C) is the
correct answer.

03 Option (B) is the correct answer. When the gender cannot be known from its name, that noun
is a common gender, such as this.

04 Option (C) is the correct answer. The correct spelling is ‘Chisel’.
08 Option (C) is the correct answer. A ‘Chest’ of drawers.

22 Option (C) is the correct answer. The other three are the ones who create something to read,
this one only reads, does not create.

28 Option (D) is the correct answer. The four types of fruits available are : Plums, peaches,
strawbwerries and watermelons.

29 Option (B) is the correct answer. The second last sentence is ‘We ate at least three watermelons
a week last year’. A month has four weeks, so that works out to about twelve a month.

30 Option (C) is the correct answer. The word ‘long’ appears after the noun ‘summer’ and not
before it, referring to the duration of the action of eating and not to the summer.

(Please note that this key is within the purview of Oxford Advanced Learner’s Dictionary, published in 2014.)
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